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D) #define SIZE 10

int a[SIZE];
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30
struct node{ 10 / 20
int data; )
A NULL
struct node *next;

}*p.*q;
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C)g->next=NULL;  p->next=q; D) p->next=q; q->next=p->next;
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#include <stdio.h>
void main()

{ . .
int i,sum;
for(sum=0,i=7;i>=4;i--)
switch (i ){

case 4: case 6:sum +=2; break;
case 5. case 7:sum +=3;break;
default: sum+=4; break;

}

printf("sum=%d\n",sum);
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#include <stdio.h>
#include <math.h>

void main()

{
int m,k,i;
for(m=2;m<=10;m++){
for(k=sqrt(m),i=2; i<ék; i++)
if(m%i==0)
break;
if(i>=k+1)
printf("%d  ",m);
}
}
3.

#include <stdio.h>

void test()

{
int x=0;
static int y=5;
y += ++x;
printf("%4d  %4d", x, y);
}
void main()
{
test();
test();
}
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#include <stdio.h>
struct st
{
int x;
int *y;
;P
int dt[4]={ 10,20,30,40 };
struct st a[4]={  {50,&dt[0}},

(60,&d1[0]},
(60,&dt[0]},
{60,&dt[0]}
I
main()
{
p=a;
printf("%d  %d\n",++(p->x),*(p->y));
}
5.

#include <stdio.h>

main()

{
FILE *fp;
int i=10, j=20, k, n;
fp=fopen("d1.dat","w™);
fprintf(fp,"%d\n",i);  fprintf(fp,"%d\n",j);
fclose(fp);
fp=fopen("d1.dat","r");
fscanf(fp,"%d%d",&k,&n);  printf("%d %d\n",k,n);
fclose(fp);
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#include <stdio.h>
4))]
#define  Epsilon (2)
void main( )
{ double x,y=l;
do {
3 PHORAE T I ACUAR */
y=— 4 P LA G AR ¥/
twhile (fabs(y-x) (&) Epsilon);
printf(“ 77 F# X*+10cosx=0 MR A  %10.51f\n”, y);
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#define LASTROW 10
main()

{ int row,col,a[11];

a[1]=1;
printf("%4d\n",a[1]);
for(row=2;row<=LASTROW];row++)

{
afrow]=1; ;
for( | (6) )
a[col]=a[ @) J+a[ (8) I;
for(col =1; ()] ; col ++)
printf("%4d", a[col]);
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